* £ 5EITRARIEZIZTKE %

PRELTF
1 2 3 tyh 5= & 1 2 3 tyh J—A IE
Joyy L SERX| SAR ETE (1R BIRE [EIESEAES = C Jovy it S| =R =4R| VK k5 (CIESEIEEIESE
1
LR = X — — thit BRE X — —
2
iR Z7E — X — =R EAR — X —
3
1Bl RS — — X AV - 5= — — x
4
5
1 2 3 tyh J—A B 1 2 3 yh J—Ah I8
Joyy B nR | s Bx7| BE 6D CIESEIES = D Jovy [EIESEES =
1
BEEAB| X — — % _ _
2
SE PRF|  — x — — X —
3
FE eh — — X — — x
4




* 5 5EITRARIEZ1ZVAS %

hEELT
1 2 3 4 5 tyh J=A 1 2 3 4 5 tyb =ik
I [
1 A= H#E%%%?%%%'E 3 fiy-4J %ﬁﬁgﬁﬁﬁgﬁﬁjﬁ
1 3[1
X — — — — X — — — —
2 3[2
— x — — — — x — — —
8 3|3
— — x — — — — x — —
4 3|4
— — — x — — — — x —
5 3|5
— — — — X — — — — x
1 2 3 4 5 tyh =1 1 2 3 4 5 tyb =ik
n B I - B [
2 fu)-7 ﬁﬁ%é'iﬁ?%?iﬁﬁ H Jovy ﬁ?%?i%?%?iﬁﬁ
1 H1
X — — — — X — — — —
2 H|2
— x — — — — x — — —
8 H|3
— — x — — — — x — —
4 H |4
_ _ _ x _ _ _ _ x _
5 H|5
— — — — X — — — — x




